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For the Quick Refum Mechanism shown in the figure. Link 2 makes complete.
revolution. Given links'length L1 = 17, 12.= 24, 13 = 24, L4 = 26, L5 = 80, all uni
fem]. determine the following:

arein

1) The angle of fhe crank when the sideris in ifs exireme right pesition, measuredt

CCW from +ve x-axs, 8¢ =

26.39

2) The angle of the crank when the slider is in its extreme left position, measured

CCW from +ve x-cxis, 821 =

259.19

3) The Time Ratio of the mechanism
183

4) The angle of link 4, measured CCW from the positive x-axis, when the crank is ot
(62=120°), 8=

102.345

5) The position of the sider when the crank s at (6, = 120%), X =

703
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